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There is 'Cool off time' of 15 minutes inaddition to the writing time of 2 hrs.

Youare neitherallowed to write your answers nor to discuss anything with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your answers.

Read the questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the same question itself.
Calculations, figures and graphs should be shown inthe answer sheet itself.

Malayalam version of the questions is also provided.

Scores are given in brackets against each question.

Electronic devices except nonprogrammable calculations are not allowed in the examination hall.
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1. Some statements related to e-Waste are 1. ®oe9atowym el @0 alm & S 08
given below. Choose the statement which -eaIqylom TosniTWla] oGl @EI O @)
is not correct in the context of e-Waste. TOOETOD S) 69 .

a. Recycling is a method of e-Waste a. oleaauglowy m-calqy MIBeodLRM
disposal. ol@l@oeny.

b. Burn the e-Waste at high b. @-cuqy pwdm @oumleicd »oo
temperature in a controlled way. BN,

¢. When electronic equipment is C. DRIHGSIEMIE:; DaldhO6MEEBUd GdhSO
faulty, try to buy new one instead ©O@3, MANIBMNDIM) aldho o]
of repair. QO QIO6EB)D.

d. Reuse reduces the volume of e- d. ol eaigan® @-caigylea @pg
Waste. (1) allom &30V e aD. (1)




Choose the correct terminology that
denotes non graphic symbols in C++.

a. Identifiers

c. Escape sequences

b. Keywords

d. Punctuators
@)

Memory size of long double data type

in C++ is Bytes.
a.4 b.8
c. 10 d.2 ¢}

Read the statement given below:

(i) switchstatementtests only integer
or character constants.

(ii) switch statement replaces all
if.else if statements.

Choose the correct option from the
following;:

a. Statements (i) and (ii) are true
b. Statements (i) and (ii) are false

c. Statement (i) is true and (ii) is false
d. Statement (i) is false and (ii) is true

@)
Pick the odd one out.
a. Wikis b. Face book
c. Twitter d. e-mail

@)

Who is known as the father of Internet?
a. Vint cerf b. Charles Babbage

b. Tim Berners Lee d. Alan Turing

M
Unwanted signals in a message are
referredtoas )

a. Noise

c. Frequency d. Error message

@
Storage of data, capturing of data,
processing of data, input of data, and
output of data are the different stages
in data processing. Wrte these stages in
correct order? ()
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CH+ 68 6mosm (1oadls: Miloenien®:es aquyail
oM AIBIGWONO @06 ETINS)HN)b>.

a. 9o WBlonwad b. &leaiad

C. af)MGHa] MAGBIBIS  d. alodanealgd

@

C++ @3 long double anoQo ©8sqflal

MTIRYMN HAEAO] OOENIQ) BHBOETD.
a. 4 b.8
c. 10 d.2 (1

21}AUOS 05RO 69N (el @O

MW U] E0) &,

i) switch equgeaagla oaflz=d aleiw)o
530065 Q3 allei@yo 20(@oa oSy
6 21QoM »HFlW).

ii) ogelo if...else if squgeaad)es)o
switch alcouwla] ag@ymoo.

@00 Pal0WMAVIT3 VPBIVOIWVD) O OHETID
S0 H?

a. (aIaSmoaimaed (i) oo (i) 0o voclwos)
b. (uamimoaimed (i) o (i) go emQoem
C.  lummoalm (i) vodlw)o (ii) omgy@osm
d

(larSmoaim (i) emQyo (ii) vodlwy@oem

D
B)SOWTI BaIOOTHD af@?
a. Wikis b. Face book
c. Twitter d. e-mail

D

sn@demdlong allmoaamokoee SN} @RG?
a. allad” emdad b. 21063aS eniogeniel

b. slo enidesmems e d. @eeid sy 010}

ey
80) eacruEleal @yalvoialeloom avlunel
&Hed____ af)MOlWE oS aM;.
a. Noise b. Error
¢. Frequency d. Error message
ey

Storage of data, capturing of data,
processing of data, input of data agyamla
awogo elalomuqulodiloal ailaillw ®elsEBgo
6m. DA UBOIVWIW (BTGB af)P)®)d>.
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10.

11.

@)

(b)

12.

13.

Our school is decided to buy a Free and
Open Source Software for office
purpose. What are the different
freedoms we get through FSF licensing?

@

Observe the given program and answer
the following questions?

void main ()

{

int a=5, b=3;
flcat c;
c=a+b;
cout<<"a+b = "<<c¢;

}

Write down the different literals and
operators used in this program. 2
Answer any one question from11(a) and
11(b).

How do the type modifiers affect the
size and range of int and char data
types? 2

OR

Distinguish between float and double
data types in C++? 2

Rewrite the following program using
if. else statement.

void main ()
{
int x=10, y=12;
cout << ( x > y ? X V)i
} 2
We give URL in the address bar of the
browser.
i)  Which of the following returns the
IP address of the domain name of
the URL.

a. DNS b. TCP/IP

c. HTTP d. POP (D
ii) Identifies and explain the different

parts in the foollowing URL

http:/ /www . hscapkerala.gov.in/
index.html @

15

10.

11.

(@)

(b)

12.

13.

me?)es Midsleal 89070100 @RIy
MO 5@} TVIDTD a6 GIVHAT GTVIANG
QIVA Q1063310080 @120 a)). af)OamElo0
0lawomS @y FSF eeeicuadas mayes

@O} ? 2

@00 BTN G0N0 QD] 2 NOIOS OEHIS)
OTICENAN G2 IOBYEBUTES DO af) SO,

volid main ()

{

int a=5, b=3;
float c;
c=a+b;
cout<<"a+b = "<<c¢;

}

DD Glalo(WOZITE DalcWoUlajldlesnyan ailailw
ellgoends)o 60a|60Q0)& )0 a)9)M)e. (2)
11(a), 11(b) aan1 car03yEBSGI BO®
aleno sala) 2OMOo af)e}®ds.
08Sa] G2UWIaNWOHHU3 af)sBBHMWIEM int,
char aLIQ0 98SHSB}OS HOTVLAVY0
coTemIyo @M@ ?
aneglaslod
C++ oe W0Q0 ©9Sajd»3ow float oo
double Do MALNBS QAYMLITVO af) YD) db.
2)

@O0 HOEMIAM Glalo(ooif..else §alewo
U116 oY) .
volid main ()
{

int x=10, y=12;

cout << ( x > vy ? X : y);
} )
uvaudle @ewm sniddlad moo URL
MNOIBH0061E.
i) anaes e®0s)omelee)am o olcd

agmoem URL o3 domain name e}

IP @niwa) ooled ooy

a. DNS b. TCP/IP

c. HTTP d. POP (1

ooee oarldlenyam URL ea} ailailw
B8oWEIBUE HeeMROM] Qiluos’le:oles)d:.

ii)

http:/ /www.hscapkerala.gov.in/
index.html 2



14. Answer any one question from14(a) and

a.

14(b).

Transform the given algorithm into a
flowchart.

1. Start
2. Inputp, q
3. Ifp>qthen

Print " p is large"
4. Else

Print "q is large"
5. EndofIf
6. Stop.

OR

The following flowchart is drawn to
print the odd numbers from 1 to 100. Fill
up the blank symbols with suitable
instructions. 3

False

True
Print A
I

!

15.

Sto

Area of a circle is calculated using the
formula nr?, where n=3.14 and r is the
radius of the circle. Fill in the blanks in
the following program which finds the
area of a circle.
void main()
{

int area, rad;
cout<<"Enter the radius™;
cin
area =

cout

} 3)

16

14.

d.

15.

14(a), 14(b) agan1 ¢210a36mBS10 Bo®
@Ieo A1) Ao OMO0 af) LYM)d.
anaes ®alclenym @RG3cwodlmamIm
®EILB0® 068021085 QO &) .
1. Start
2. Inputp,q
3. Ifp>qthen

Print " p is large"

4. Else

Print "q is large"
5. EndofIf
6. Stop.

@ROLIB103
SaN) MGG MO AUOEWBH TV 03 (nilag”
0alQOMB8 a0GB02I0BF06M IOP EHO6M)
M. Doleel Sl &*1SeaM allamesn
Slod @MEIR IV MIBGRUEERUT af)P)ON:?

)

False

True
Print A
Il

]

Sto

X’ af)aD AVYOAUIH Y0 DalGWIW]2jo6m
alyemlead allri@1dsoe »osyaN®). @P3G3
7=3.14 90 I af)IM® @YOAL0 @RI} QUL
oo allai®IBsmo Hoemyan@IMmow]
21)019S OHIS;OMIBIEN}aN  Glald(oalel
Qflg)¢al10® EOWEBUS al)@lajles) .
void main ()
{

int area, rad;
cout<<"Enter the radius";
cin
area =

cout

} 3)



16.

17.

18.

19.

20.

21. 1)

Consider the cable TV network in your
locality. Identify the topology used to
connect different televisions in that
network. Also specify the merits and
demerits of that topology. 3

We want to connect our computer to the
Internet for downloading some image.
Explain any two connectivity methods?

3)
With the help of an example, explain
type casting in C++ programs? 3
In C++, operations are represented by
expressions.
i)  Which of the following expressions
produces the result 7.5?
a.15/2 b. 10+5/2.0
c.5+5/2 d.15/2.0 (D
If value of A=3 and B=2, write the

different arithmetic expressions
using A and B and their outputs.

@
i) Binary representation of +38 is
00100110. Which of the following is
the 2's compliment representation
of -38?
a. 11011001 b. 00100111
c. 11011010 d. 11011011 (D
If the Octal representation of
decimal number X is (64),. Find the
hexa decimal equivalent of X. (3)

In performance evaluation of

algorithms, which of the following

qualities determine the best

algorithm:

a. Faster execution with low cost

b.Faster execution with minimum
memory usage.

c. Low cost with minimum memory
usage.

d.Faster execution with maximum
memory usage. ¢}

17

16.

17.

18.

19.

20.

21.

MEB 80S (@3 UeOm Gmendlud sl ail
emgaldeslael allallw eselallesumydué oo
055 eMOBE] 0aleWOlajoem enaTWlaflajlal
HOYMNO? GRAIWHS NEMEEBS)0 BRICHEBRS)0
)OO H? 3 Scores
0] 2 l@EBBUT AWDEMEEIONS 62 IQIM@IM)
calengl Maw}es »HMIL58 Ma3demyow]
HEMEHS §alQ6Mo. a@O@BILN0 ONE BHEMdJ]
allgl eacomaeud allusacens? 3 Scores
CH+ 610002103 965q] @0oqYlous agimoesma
DBa006M Muadlmo ailuasaoss)s. 3 Scores
CH+ @3 ag) & aSalatim)dd 800 |60aUM)®:63
aV)ailaflesyam).

i) ©99% $0emmMAIG o@® ag)daBal

1o} omoade) 7.57

a. 15/2 b. 10+5/2.0
c. 5+5/2 d.15/2.0 (1
ii) A=3 90 B=2 9o @pesmslod A @) B

o alewowla] allallwmoo @ralem
20018 ag) B aVlalaHMdBlo @RAIOS
SRELDEN TR TN @
i) +38 6§ eeenimal 00100110. ®oevalo
oymadlad -38 6§ 2's emoogfloand”

ARB@O6M?
a. 11011001 b. 00100111
c. 11011010 d. 11011011 (1)

X agym oawa¥lams Tuoaydies o om)
BILR0® 88&SOd auoalyoe (64),
a®IC3. X M) OLILZOW §a0Eav0
OWMII2@ qvostly @enz)ailsles)s. (3)
1) ®noicnodlmo allelwlo)om)ecauoud

I8P al0IAD oF® WIMAIlGUDAHA6T
80) Alda] GRGICNIDIMOMIM Do

OGSO EMBD).

a. 31060 ealelailed  caln o] el ss
)BTl § )M,

b. @060 6200l Daleonoos GoIw
OONENSBS af)d Il §)aH3.

C. &0 ealelailal @)oo 6aenol
DalEWIWo.

d. o508 6200 ©a160uTla)) O@:06ME

@

GUNOMENBS af)d> TV §)aHm.



22.

23.

ii) Coding, translation and execution
are the three phases in
programming? Explain each? (3)

i)  Which of the following system in e-
Business exchanges
between buyer and seller?
a. Automatic Teller Machine

b. Electronic Payment System

money

c. Payment Service System

d. Financial Data Center. @)
e-Governance provides a lot of
government services to citizens
through ICT. What are the different
categories of e-Governance
interactions? 3
Answer any one question from 23(a) and
23(b).
Explain the working of for loop with
the help of a C++ program.

OR
Consider the given program, which find
the sum of integers below 100 and
answer the following questions:
#include<iostream.h>

void main ()

{

int a, N=100, S§=0;
cout<<"Enter the number";
cin>>a;

while (a<N)
{
S=S+a;
a=a+1;
}

cout<<"Sum is "<<S;

i)  What is the output of the program
when a=1007?

18

22,

23.

i) G&oUTows, (SOMBEANAHAD, ag)dh Ml )t
ag il ¢lalowodlolael allallw celg
BB, B06OOM 0 aflaidless.  (3)

1) 20105 §B0S;OMBleeMAUVIGS -6nil
milnqileal ag® Ulquaosn) QloesByamn
Wosyo Al@En)MWIB o @omlenss
aléMo QOGHAIQ0 §aIYaIND.

a. 8065000¢18; 05213 eaaul1ad
b. meissisoamls; Galoangd” milayoe
C. Galoaag qudarlad adlqyo

d. adlmomdanyed awogo equadd (1)
ICT pale@odilayss s-weadsmamay
WI0O80 mmm&@ma@” BALAIMEERUI LM
BBSlORITMIBO}aN). BO@LI0B06M) -
waldsmadavleel allallw MAOoGHm)

&HUD. 3)

23(a), 23(b) ggamlu@16d ago®@lelyo

s} 2OMOHDL}®)db.

80) 6aI0WIaleM TLadIVEOMIns for

enajlom (alaidomme allaiclen)s.
@ROLIB103

OOPBH6MAM GlatoWoo 100 @ moevw)88

TVOELILHBIOS DMdh HeMBYailSlee;MmM@Imss

@o6m. @R@IM aNQIOS BB0S)OMIB]ER)aD

GaloB6BBUBHD DOMOORL)D)H:.

#include<iostream.h>

volid main ()

{

int a, N=100, S5=0;
cout<<"Enter the number";
cin>>a;

while (a<N)
{
S=5S+a;
a=a+1;
}

cout<<"Sum is "<<S;

i) a=100 @RYI® of®owloles)o
8D5alS.



24,

ii) If the statement a=a+1 is not in the
program, loop will execute infinite
times. Why?

iii) Rewrite the program using for
loop.

©)

Briefly describe the features and uses

of any five input devices?

©)

19

24.

a=a+l o)n GAYQYOAg  Glalo(WOoaled
mepaloyepmeslcd loop @emmmacwl
A) STV ]S 21@))0. af)aMEBHI6NS ?
iii) for ela]2alcWoula] OD Glald(WOeR
PO T

©)
o@Om®IeNo 5 DMals WIOOHAUTVI®HS)eS
TLAIlBUEHMEH B0 DalGWINQNe 2)oes] ailal
ol db.

©)



Answer Key

Qn. Value points Score Total
No.
1 | When electronic equipment is faulty, try to buy new
one instead of repair. 1 1
2 | Escape sequence 1 1
3 |10 1
4 Statement i) is true and ii) is false 1
5 Email 1
6 Vint cerf 1
7 | Noise 1
8 | 1. Capturing of data, input of data, Storage of data, Processing
of data, and output of data 2 2
2. Correct order of each 1/2 marks 2
9 | Each point 4x% 2
10 |10 (1) any 2 literals in the program 1 2
10(2) any 2 identifier in the program 1
11 | int unsigned, short, long or any 2 1 2
char - unsigned, signed 1
OR size and precision (1 mark each) 2
12 | Correct 2 2
partialy correct 1
13 | (i) DNS 1 1
13 | (ii) each component 4x ¥ 2
14(a) | translation of each step 6x 3
14(b) | Correct Instruction for each symbol Ix1 3
15 | Correct statement 3x1 3
16 | Topology 1 3
Merit 1
Demerit 1
17 | Two names 1 3
Any 1 point each 1
18 | Def 1 3
Example 1
explain one point 1

20




Answer Key

Qn. Value points Score Total

No.

19(i) |15/2.0 1 1

19(ii) | Arithmetic expressions 1 2
Qutputs 1

20(i) /11011010 1 1

20(ii) |a. 52 12 3
b. 34 12

21(i) |Execute faster with minimum memory usage 1 1

21(ii) | Names only each 1% 3
Explanation for each name 1%

22(i) |Electronic Payment System 1 1

22(ii) | Any 3 names, each 1% 3
Explanation for each name 1%

23(a) | syntax of for loop 2
example of for loop 1 5
explanation of the example 2

23(b) |i) Sumis O 1
ii) Explanation 2 5
iii) Correct conversion 2

24 | Name of five device, each 2 5

expain each 2%

21
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There is 'Cool off time' of 15 minutes inaddition to the writing time of 2 hours. \
Youare neitherallowed to write your answers nor to discuss anything with others during the 'cool off time'.
Usethe 'cool off time' to get familiar with questions and to plan your answers.

Read the questions carefully before answering.
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Malayalam version of the questions is also provided.

Scores are given in brackets against each question.

Electronic devices except nonprogrammable calculations are not allowed in the examination hall.

M33latis muaOEONM alosn 15 AlMg ‘@)U 89a0 §8So 9MEOVITIEN0. D TLRVED G2I0BYEBBUTHEE
DOMOO af)FIMOCMI, AYBRAROW] @Yo AlNIawe MSEUMICMO ~loslel.
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Choose the correct number system from | 1.

the following to which the number 121
(one hundred and twenty one) belongs.

(@) Octal and Decimal

(b) Binary only

() Binary, Octal, Decimal and
Hexadecimal

(d) Decimal only M

121 (mQl oyaiom]l 8mY) ag)an Vo
DUWBO|SIAN LVEIYOW TVoALD TVMUBIWo
21)019S oH»HISyOMIGlesymMalad mliano
OO VO TN S B .

(@) saene swmilaeo
(b) eesnImAl @d™o

(©) eeImA), 8&o3, HWMIAGS, a0V
eoLla@d

(d) eawamilacd aowmo (1)



2. Some of the C++ statements given | 2. ajaes esmosyomloleeyan aler C++
below are invalid. BARGO2)&Ud H®QOE.
(i) cin>>m, n; (ii) at+b=c; (i) cin>>m, n;  (ii)) at+b=c;
(iii) void p; (iv) cout<<28; (iii) void p; (iv) cout<<28;
Identify them from the following 21)Ies ®adlee;mMaIIcd mlamo @Al
alternatives: BHOENROD) .
(a) Statement (i) and (ii) only (a) (i), (il) equgeageud momo
(b) Statement (ii) and (iii) only (b) (ii), (iii) cqygeamd)®ud ao®o
(c) Statement (i), (ii) and (iii) only () (1), (ii), (iii) sauQead)&ud ao(®o
(d) All the statements M (d) ageto equdeoaady@s)o (1)
3. Who proposed the idea of World Wide 3. cadal el el ag)In @R a0e 2GS
Web? (1) Qo ®Od ? (1)
4. Online railway reservation is an | 4. sosmeecIm eowloica Slavdeanuad a
example of DBO ad ®6M B0 &M .
(a) e-Business (b) e-Rail (a) e-Business (b) e-Rail
(c)e-Governance  (d) e-Learning (1) (c)e-Governance  (d) e-Learning (1)
5.  Match the following: (2) 5. 6al0)oals] Galde9)@. 2
A B
(@) Interconnects two different networks having different protocols | (i) Hub
(b) Interconnects same type of networks using the same protocol (ii) Switch
(¢) Transmits data packets to all devices connected to it (iii) Bridge
(d) Capable of determining the destination and redirect the (iv) Router
data only to the intended node. (v) Gateway
( A B
(a) A@®ITC® GRIIGSICHIB)HUD DBB VM QAL ITV® OMGABHD) 6T (i) aoeni
enIaWla fleeyam,.
(b) 860 61065065008 DaIGLIWIBHIM BCGO MOONICIN|S ©6rE (ii)  aolla]
OMGABHD)BHOSB TITWa [lEnaN).
(c) enuaWlajlajldlesyan ageld wlaeairueglcelsnie Ao aldeaQy®»es | (iii) (nilabed
@OWHaN),
(d) elesyrunomoe MIBENVIENHW o DEZUTIEN}AN GMIWIGRISS Ad(@o (iv) owsad
OQ @RWHHBH>W0 6 alYRaM). (v) ewgeal
6. Thereisamemoryinsidethe CPU.What 6. CPU- aillmssicl 8o} eacaclo)ee. @pcilend
is its name? Write down its purpose in Bl ? HMULSOI03 @GO @YADY
the computer. ) ag)(0)? 2)
7.  Answer any one question from 7(a) and 7. 7(a),7(b) aan? c210aysmg10d apameslelo
7(b). Sanla) OWD0 af)SIMYd:.
(a). Explain the operations performed by  (8). ajaes e&0s;omIclenan C++ ag)@aialan

the following C++ expressions and find
the output.

MBIl 30a|E0aud ailuos;dla] 8DgaNS
HeM2YailSlen)d.



(b).

10.

11.

(@).

() 5%6+6/5
(i) (5.0 / 2+ 05) / 2 )
OR

Read the following mathematical
expressions with the variables A, B, C
and write the corresponding C++
expressions:

i) (A+B)(A+Q)
(i) Find the remainder when the sum

of A and B is divided by the
difference between Aand C.  (2)

In a networked computer lab, a
computer can be identified by an
address set by the user. What is it known
as? Write a sample address for a
computer in the network? (2)

Computer languages are classified into
low level languages and high level
languages. Distinguish between them.

(2)
Convert the decimal number 29 into
binary. Using sign and magnitude form
and 1's complement form represent +29
and -29 in memory in 8-bit word length?

3)
Answer any one question from11(a) and
11(b).

Observe the following flowchart. Write
down the corresponding algorithm?(3)

A =100

N|
»

® False

True
Print A
!
A=A/10
]

(b).

10.

11.

(@).

(i) 5%6+6/5
(i) 5.0/2+05)/2 2
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A =100
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»

® False

True
Print A
!
A=A/10
]




OR

(b). Read the following algorithm and

12.

13.

14.

15.

explain the tasks instructed to the
computer by each step in the algorithm.

Step1:  Start
Step2: N=1,5=0
Step3:  Repeat steps 4 and 5
While N < 100
Step 4: S=S+N
Step 5: N=N*5
Step6:  PrintS
Step7:  Stop 3

(a) Which of the following is not a
character literal in C++7?
(i) '+ (ii) 9
(i) \' (iv) '#' M

(b) Some of the following are invalid
identifiers in C++. Choose them
and give reason for your findings.

(i) _number (ii) Avg Hgt
(ii) double (iv) Float 2
What is the use of data types in C++
programs? Write a sample C++
statement showing their use. Explain the
purpose of this statement in a program.
3
How are C++ type modifiers helpful in
storing data? Explain with the help of
any two examples. 3

(&) Some of the following are
equivalent to the C++ statement:

num++ ;. Which are they?
(i) num+1; (ii) num+=1;
(i) num=+1;  (iv) ++num;

@

ama%aaﬂ«rﬁ

(b). anyaies oosyomBGO)AM GRGICWOBT®

12.

13.

14.

15.

omleel 80600 Oqyalfleneswio HMILSOI
6mosS mIde3utlenm (alaidommesBud ailuo

B3l @lon) .

Step1:  Start
Step2: N=1,5=0
Step3:  Repeat steps 4 and 5
While N <100
Step 4: S=S+N
Step 5: N=N*5
Step6:  Print$S
Step7:  Stop 3

(a) aya1es 0 0s) om0l ee) an al lod
C++ 91 @3008038 ellQocd @oeloom
GO ?

(i)'+ (ii)'9

(iid) "\* (iv) '#' ey
(b) anales esosyoBIBleeMAUWIGE aflelo

CH++ 021 6mQID g FlanwO}&80
6. @RAI HMOHETINS)O0) MOV

HOVMODS) O,
(i) _number  (ii)) Avg Hgt
(ii) double (iv) Float (2)
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(@) anaes 6B0s;EMIBlEeMAIIT alleis
num++; agyan C++ equgeaagla) oyely
@06M. @RAI aBO®EI00?

(i) num+1; (ii) num+=1;

(iii) num=+1;  (iv) ++num;

ey



16.

17.

18.

19.

20.

(b) Identify the errors in the following
C++ program and write reason for
each:

#include<iostream.h>

void main()
{
int a; b;
cin<<a<<b;
s=a+tb;
print s;
} )
C++ has three looping statements.
(a) Write an example for exit controlled
loop. 1)
(b) Write down the syntax of an entry
controlled loop and explain its
working. 2
Write any three wireless communication
technologies using radio waves. List any

one characteristic of each, which is
different from that of the others.

)
Explain any three tools that enhance e-
Learning process. 3

While developing computer programs,

errors may occur in some stages.

(@) The process of correcting these
errors is known as . (1)

(b) Classify these errors into three
types. Also specify the stages in
which these types of error occur.

€)

Today social media over the Internet is

very popular.

(@) In your opinion, what are the best
practices to avoid the issues related
to its use? 3)

16.

17.

18.

19.

20.

(b) anaes esosyoBBleeymn CH+ Glatowo
aloel oMY B0 HEBOMI 606IaTIM)0
HHODEMO af)P)M) .

#include<iostream.h>
void main ()

{
int a; b;
cin<<a<<b;
s=a+b;
print s;

} &)
CH+ @8 g enaflod’ equgeand@syane.
(@) oagBMIG @emaeisoudal enaflal 8oy 060
ADOEMODL) D) B> (1)
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21.

(@).

(b).

22.

(b) Suppose we need a quick response
from the public about the ban of
smoking in our state. Which type
of social media is the best suited for
this purpose? ¢}

Answer any one question from 21(a) and

21(b).

Write a C++ program to input principal

amount and period of deposit in years

and calculate the simple interest as per
the rate of interest shown below:

21.

(@).

(b) mamyes qmvoauNOMED alydaiell wleod
Wlemmmmlom aosniawla] ealegam
a0 RMIL a10aGlWeMo a)aMId] e
93 a@® GILOULE3 AUV aRQQl}0
@M CWORY0? (1

21(a), 21(b) a1 ea10a83smBS10 BO®
aleno sala) 2OMOo af)e}®ds.

(edladavla|od @y&»®)o, HWEIITVIG &ORID
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92100 aljaies ®aMlelenymm aleilvo Mo
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Period in Years Rate of Interest r.ﬂ,omomw’l ABHOm1G3 aleil mlosd
Below 5 Years 8% 5 aidaromlod ®oee 8%

5t0 9 Years 10% 5 @8 9 aidatio alO© 10%

10 to 13 Years 12% 10 oyo@8 13 aidatto aleo 12%

14 Years and above 15% 14 ai@arano @e@im) ayegleno 15%

©)
OR
Write a C++ program to display the
multiples of 7 between 100 and 200.
©)
A table is given to describe the

computer memory. Furnish the details
in the boxes as per the column headings:

©)

@ma%aa;lcoﬁ

(b). 100 20 200 9o mswlenss 7 o vysmi®

22,
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rType Further Features/Characteristics Range of Storage
Memory classification of each type Capacity
Primary 1.
Memory 2.
Secondary 1.
Storage 2.
Devices 3.
-
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06ala0] 1.
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eoenol 2.
3.




Answer Key

Qn. Value points Score Total
No.
1 (d) Decimal 1 1
2 (c) Statement (i), (ii) and (iii) only 1 1
3 | Tim Berners Lee 1 1
4 | e-Governance 1 1
5 @-), b)-@4v), (©-1) (d)- (D) Y2 x4 2
6 Registers. 1
To store data, result, address, instruction for function of CPU 1 2
7(a) | Explanation of operations Y2+ 12
Qutputs: 6, 1.5" o+ 1% 2
7 (b) | (i) Proper use of operators and parentheses 2+ 12
(C) | (ii) Proper use of operators and parentheses 2+ 12 2
8 | IP address 1
For writing 4 part address 1 2
9 | Two distinction points 1+1 2
10 | Binary conversion. 1
Sign & magnitude form. Yo+ Yo
1’s complement form. Yo+ Yo 3
11(a) | For the correct steps other than start and stop Y2 x 4
Correct order" 1 3
11(b) | For each step other than 1 and 7 2x5
(©) | Correct flow 2 3
12 (a) | (iii) “\’ 1 1
12 (b) | (ii) and (iii) Y2+ 12
Reason for each Y2+ 12 2
13 | To declare variables 1
A valid statement 1
For specifying the memory allocation based on the used data 1 3
type in the example
14 | Extends the range of data for the data types 1
Any two type modifiers with explanation 1+1 3
15(a) | (ii) and (iv) Y2+ 12 1
15(b) | To identify four errors 1
Reason for each 1 2
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Answer Key

Qn. Value points Score Total
No.
16(a) | do while 1 1
16(b) | Syntax of for or while 1
Explanation of execution 1 2
17 | Any three from Bluetooth, Wi-Fi, Wi-Max, Satellite link ax3
One characteristic of each 2x3 3
18 | Any three valid points or merits 1+1+1 3
19(a) | Debugging 1 1
19(b) | Syntax, Logical, Run time ax3
Translation, Execution, Execution ax3 3
20(a) | Three effective and viable proposals 1+1+1 3
20(b) | Microblog (Twitter) 1 1
21(a) |Program structure 12
Variable declaration 1
Input statement 12
Output statement 12 5
Use of if ... else 1
Correct logic 12
21(b) |Program structure 12
(C)| Variable declaration 1
Use of loop 1 5
Correct logic 2
Qutput statement 12
22 | Details of RAM, ROM, 1+1
Magnetic storage, Optical storage, Semi conductor storage 1+1+1 6
and examples 1

The entry (C) indicates the choice questions
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